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(L) Jack is thinking of a number. One half of the
number added to two fifths of the number is 27.
What is Jack’s number?

Jill is thinking of a number. Three fourths of
the number plus one third of the number is 52.
Find Jiil's number.

Two thirds of a number is 33 more than three
eighths of the number. Find the number.

One half of a certain even integer plus one ninth
of the next consecutive even integer equals 21.
Find the first integer.

@) Mr. Enigma said: “One fourth of my age 3 years
ago is the same as one fifth of my age in 8 years.”
How old is Mr. Enigina now?

(&) Ms. Enigma said: “One third of my age plus four
fifths of my age is the same as my age in 6 years.”
How old is Ms. Enigma now?

A science test has two parts. Part B has 4 more
questions than Part A. Rimshot missed one fifth
of the questions in Part A and one eighth of the
questions in Part B. If he missed 7 questions
altogether, how many questions were on the test?

Omega did a survey to see what kind of music the
students like best. One sixth of the students
chose pop, three tenths chaose rap, and two fifths
chose rock. If the combined total of these three
groups was 78 students, how many students did
Omega survey altogether?

Onswers 1-4
@) 20
(GEE) 12
(@2e) 36
(&8s 30
&)
-24
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Rational Equations and Functions:
Solving Problems With Rational Equations

PUNCHLINE - Algebra = Book B
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